2. Phase Wettbewerb - Notzufahrt h = 4.5 m, Rampe 4%
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Lange 1-430.1m 1+536.7m  1+554.7m | +694.7 m 1+614.7m | 614.7+62.0m
Héhe Gradiente 1 +115.6 m ; 1+1166m  1+116.4m 1+114.8 m 1+114.0 m L +111.4m
Hoéhe Gelande | +105.86 m HSW | +105.86 m HSW #1109 m 1 +110.7 m 1+110.9 m 1 +111.0 m L +111.4m
Ansatz 2 - Notzufahrt h = 3.5 m, Rampe 4%
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1 Schifffahrtskanal ! Gefahrenraum Neckar | /"Notzufahrt ! ! Widerlager ' Beginn ! Universitats
! 'h=HSW +7.88m \h=35m _/ ! ' Nord ' Rampe ' Boulevard
Lange 1 +430.1m 1+536.7m  1+554.7 m 1+584.7m 1 +604.7 m 1604.7+47.5: 604.7 +63.3 m
Héhe Gradiente 1 +115.6 m 1 +1155m 1 +1151m 1+113.9m 1+113.1m +111.4m 1 +1114m
Héhe Gelande | +105.86 m HSW | +105.86 m HSW 1+1109m  1+110.7 m 1+1109m 1+111.0m i+111.4m | +111.4m
Ansatz 3 - Notzufahrt h = 3.5 m, Rampe 3%
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1 Schifffahrtskanal ! Gefahrenraum Neckar | /Notzufahrt™\ ! ! Widerlager ! Universitats
l 'h=HSW +7.88m \h=35m } ' Nord ' Boulevard
Lange | +430.1 m 1+536.7m  1+554.7m | +584.7m 1 +604.7 m | 604.7 +72.0m
Hoéhe Gradiente | +115.6 m | 1+1155m  1+1151m 1+114.1m 1+1134m L +111.4 m
Hohe Gelande | +105.86 m HSW | +105.86 m HSW 1+1109m  1+110.7 m 1+1109m 1+111.0m | +111.4 m
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2. Phase Wettbewerb - Notzufahrt h = 4.5 m, Rampe 4%
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Ansatz 2 - Notzufahrt h = 3.5 m, Rampe 4%
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Ansatz 3 - Notzufahrt h = 3.5 m, Rampe 3%





